(uncH/sjusAl ul) v4u
10 100

1000

10000

§0-8l

062 Lg=d00 Ul

10000
- 1000

aY

—&—— 0¥BE06L=H00 [eMOY ¥00 - 101d 130

- 08
- 06
- 96
- 86

PR I L1
(noH/sjuaAg u) Y4
10 100

1000

10000

fala]

S0-8l

08¢ L2=400 UIN

10000
- 000

- 100

—S—— 0v6/€061=400 [BM2Y Z00 - 101d 130

433

(op U1) SSIAK

(g Ul) SSIAL

(anoH/sjusng ul) vy
Lo 100

1000

10

000

§0-91

0§¢ 1¢=d00a uIN

10000
-1 1000

- oo

=

—&—— 0YB €061=420 [BMIY £00 -101d 134

L Ly L [
(anoH/sIUBAT ul) vy
L0 100

1000

000

08¢'12=400 WIN

L0

=

—S—— 0¥B/£06L=400 [eM2V L00 - 101d 130

[

(% u1) ssIAd

(% U1} ssIiNd



(uncH/sjusAl ul) v4u
10 100

1000

10000

§0-8l

—a—gegen

9y €¢=d00 U

oLIad Wopuey
L - L

10000
- 1000

aY

02=400 [emay 800 -10id 130

- 08
- 06
- 96
- 86

L I
(noH/sjuaAg u) Y4
10 100

1000

10000

fala]

S0-8l

08¢ L2=400 UIN

10000
- 000

- 100

—S—— 0FB,€061=400 [BM2Y 900 -101d 130

433

(op U1) SSIAK

(g Ul) SSIAL

(anoH/sjusng ul) vy
Lo 100

1000

10

000

§0-91

0§¢ 1¢=d00a uIN

10000
-1 1000

- oo

=

—&—— 0YB€061=420 [BMIY /00 -101d 13a

L Ly L [
(anoH/sIUBAT ul) vy
L0 100

1000

000

08¢'12=400 WIN

L0

=

—S—— 0¥B/£06L=400 [eM2V 500 - 101d 130

[

(% u1) ssIAd

(% U1} ssIiNd



(uncH/sjusAl ul) v4u
10 100

1000

10000

§0-8l

—a—gegen

L] 9y €¢=d00 U

10000
- 1000

aY

02=400 [emav £10 -10id 13d

oLIad Wopuey
L - L

- 08
- 06
- 96
- 86

L I
(noH/sjuaAg u) Y4
10 100

1000

10000

fala]

S0-8l

—o—Lgeaey

L] 92¥'€6=400 U

10000
- 000

- 100

02=400 [emay 010 -10id 13d

oLI8d Wopuey
L [— L

433

(op U1) SSIAK

(g Ul) SSIAL

(anoH/sjusng ul) vy
Lo 100

1000

10

000

§0-91

—o—(geRe9

L] 9¢r £¢=d00 Ul

10000
-1 1000

- oo

=

02=400 [emay LL0 -10id 130

opiad
|

wiopuey

Ly [
(anoH/sIUBAT ul) vy
L0 100

1000

000

—<—Zesz9

L] 9ck €2=400 Ul

L0

=

02=40d [em2Y 600 - 10ld 130

oLiad
|

wopuey

[

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y
L0

100

1000

10000

6/8'GL=400 UN
& £62'9/8L=400 [BMOY 910 - 10id 130
- ———— sjuBLLIOLIaY WOpUEY

L0

M I
(noH/sjusAg ) v4o
100

1000

10000

—&—gea'e90z=40a [erdy ¥ 10 -10id 130
F—_— oLad Wopuey
L [— L

S0-8l

100000
1000

10O
00

LD O
‘250

o wmw oNTnN

88 & 8 8 K *F

[+2]
[=2]

n
n

S0-8l

10000
1000

-0
2

S W NTWN

-

88 8 8 g R

(% u1) sSAd

(3 ur) ssiid

(unoH/sjusAg ul) y4y

L0 b

00 1000

10000

5.8'6L=400 WK
——&— £81°9/81=400 [BMOYSLO - 10Id 130

F ——— eajueuwuoliad wopuey

L L Ly L Ly

L0

L Ly [
(anoH/s|usAT ul) vau
100

92k €2=400a Ui
—&—0geaz90z=y0a [emov €10 - 10ld 13a

F—_— oLIad Wopuey

L [ L

S0-9L

10000
1000

100’
00

Ll O
‘S50

oW NTVeY

-

£8 8 8 2 R

00

— L0 O
‘@9

%3 8‘G_U7N"U’.N

88 8

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y
L0

100

1000

10000

6/8'GL=400 UN
& ££/'9/81=400 [BMOY 020 - 10ld 130
- ———— sjuBLLIOLIaY WOpUEY

L0

M I
(noH/sjusAg ) v4o

100

1000

10000

L ®  Z99°GL=40a U
—&— 067°5581=400 [EMOY 8L0 - 10d 130

- ———— 8ouBLLIOLIad WopuURY
L [ L

S0-8l

100000
1000

10O
00

LD O
‘250

o wmw oNTnN

88 & 8 8 K *F

[+2]
[=2]

n
n

S0-8l

10000
1000

-0
2

S W NTWN

-

88 8 8 g R

(% u1) sSAd

(3 ur) ssiid

(unoH/sjusAg ul) y4y

L0 b

00 1000

10000

5.8'6L=400 WK

—©— £81°9/81=400 [BMOVELO - 10Id 130
soUeULIoLISd WOopUEY

L L Ly L Ly

L0

L Ly [
(anoH/s|usAT ul) vau
100

[ ]
—

18'GL=40a WA
££/°9/81=400 [EM3Y /10 - 101d 130
8oUBLLIOLIBd WOopUEY

L [ L

S0-9L

10000
1000

100’
00

Ll O
‘S50

oW NTVeY

-

£8 8 8 2 R

00

— L0 O
‘@9

%3 8‘G_U7N"U’.N

88 8

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y
L0 100

1000

10000

- L1
(noH/sjusAg ) v4o
10 100

1000

10000

S0-8l

100000
1000

10O
00

LD O
‘250

o wmw oNTnN

88 & 8 8 K *F

[+2]
[=2]

n
n

S0-8l

10000
1000

-0
2

S W NTWN

88 8 8 8§ R =

w0
[=>]

»
»

(% u1) sSAd

(3 ur) ssiid

(unoH/sjusAg ul) y4y
(] 100

1000 10000

L L L [
(anoH/s|usAT ul) vau

L0 100

e

®  5/g6L=yDa U

1000 L0000

€€1°9/81=400 M3V 120 - 10ld 130

SoUeULIOLB Wopuey
L [ L

S0-9L

10000
1000

100’
00

Ll O
‘S50

oW NTVeY

£8 8 8 @ R %

[+9]
@

D
n

G0-8l

10000
1000

boo'
00

— L0 O
‘@9

%3 8‘G_U7N"U’.N

88 8

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y
L0 100

1000

10000

- L1
(noH/sjusAg ) v4o
10 100

1000

10000

S0-8l

100000
1000

10O
00

LD N
‘250

o wn NTB N

88 & 8 8 K *F

[+2]
[=2]

n
n

S0-8l

10000
1000

-0
2

Qo w oNT AN

88 8 8 8§ R =

w0
[=>]

»
»

(op U1) SSIAK

(3 ur) ssiid

(unoH/sjusAg ul) y4y
0L b (] 100

1000

10000

L L L [
(anoH/s|usAT ul) vau

oL b L0 100

1000

L0000

S0-9L

10000
1000

100’
00

—LlD oN—
‘S50

oW NTVeY

£8 8 8 @ R %

[+9]
@

D
n

G0-8l

10000
1000

boo'
00

—l0 o
‘@9

2 g 8‘G_U7N"U’.N

88 8

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y

10

100

1000 10000

LG LL=HO0 UN
& $96'€261=4D0 [BMVY Z£0 - 10id 130
soUBULIOLISd Wopuey

M
{4noH/

L0

SuaA]

1.
[EZN]
100

1000 10000

e

PLGLL=H0a UIN
$96°€Z61=400 [EMIY 0£0 - 101d 130
SoUBULIOLISd Wopuey

L [ L

S0-8l

100000
1000

10O
00

LD O
‘250

o wmw oNTnN

88 & 8 8 K *F

[+2]
[=2]

n
n

S0-8l

10000
1000

-0
2

S W NTWN

88 8 8 8§ R =

w0
[=>]

»
»

(% u1) sSAd

(3 ur) ssiid

(unoH/sjusAg ul) y4y
(]

100

1000 10

000

S0-9L

225 21=400 upn

10000
1000

100’
00

Ll O
‘S50

oW NTVeY

-

—&—— BBEELBL=HD0 [EMOY LED -101d 130

SOUBLLLOLIS WL
L 1y

opuey

£8 8 8 2 R

[+9]
@

L Ly
(anoHy

L0

L
sjuend ul) v4y

100

000

D
n

G0-8l

e

pLg/L=40a U

N

SoUeULIOLB Wopuey
L [ L

1000 L0

10000
1000

boo'
00

— L0 O
‘@9

S wn NTHeN

-

¥96'€261=400 [NV 620 - 10ld 13d

8 ¢ R

88 8

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y

10

100

1000 10000

10§°2L=400 Ul
O $EY°LSSL=HD0 BNV g8
soUBULIOLISd Wopuey

M
{4noH/

L0

[
SjuRAT ul) V4o

100

1000 10000

e

PLGLL=H0a UIN
$96°€Z61=400 [EMAY pE0 - 101d 130
SoUBULIOLISd Wopuey

L [ L

S0-8l

100000
1000

10O
00

LD O
‘250

o wmw oNTnN

88 & 8 8 K *F

[+2]
[=2]

n
n

S0-8l

10000
1000

-0
2

S W NTWN

88 8 8 8§ R =

w0
[=>]

»
»

(% u1) sSAd

(3 ur) ssiid

(unoH/sjusAg ul) y4y
(]

100

1000 10

000

S0-9L

F1G21=400 W

10000
1000

100’
00

Ll O
‘S50

oW NTVeY

-

—&—— ¥96'€261=400 [BMIY GE0 -101d 130

SOUBLLLOLIS WL
L 1y

opuey

£8 8 8 2 R

[+9]
@

L L Ly
(anoHy
L0

L
sjuend ul) v4y

100

000

D
n

G0-8l

e

pLg/L=40a U

N

1000 L0

10000
1000

boo'
00

— L0 O
‘@9

S wn NTHeN

-

F96'€€61=400 2y ¢c0 - 10ld 130
SoUeULIOLB Wopuey
L [ L

8 ¢ R

88 8

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y

0L b 10 100

1000

10000

—&—— ¥BY LSGL=400 [ermoY Op

10§°2L=400 Ul

8OUBLLIOLIS ] WOopUEY
[ - L 1

M
{noH/sjueAg uI)

[
Y4
0L b L0 100

1000

10000

e

61 1G51=400 [endY 8¢
SOUBULIOLIS ] WOopUEY
L [— L

S0-8l

100000
1000

10O
00

LD N
‘250

o wn NTB N

88 & 8 8 K *F

[+2]
[=2]

n
n

S0-8l

10000
1000

-0
2

Qo w oNT AN

-

88 8 8 g R

(op U1) SSIAK

(3 ur) ssiid

(anoH/sjueng ul) vy
oL b Lo 100 1000

S0-9L

10000

10000
1000

100’
00

—LlD oN—
‘S50

oW NTVeY

-

0§ 21=400 Ul

O pBP15SL=HD0 BNV BE
soUeULIoLISd WOopUEY

L L Ly L Ly

£8 8 8 2 R

L 1 | I
(anoH/sjueng U vy
ol L Lo 100 1000

00

—l0 o
‘@9

S wn NTHeN

-

SoUeULIOLB Wopuey
L [ L

8 ¢ R

88 8

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y

0L b 10

100

1000

10000

68g'81L=400 WA
& 29F'EL0Z=400 [BMOY LSO - 10ld 130
soUBULIOLISd Wopuey

0L b L0

M I
(noH/sjusAg ) v4o
100

1000

10000

[ ]
—&— PBY’LSSL=400 [enoy
—— 20UBULIOLISY WIOpUEY

L [— L

S0-8l

100000
1000

10O
00

LD O
‘250

o wmw oNTnN

88 & 8 8 K *F

[+2]
[=2]

n
n

S0-8l

10000
1000

-0
2

S W NTWN

-

88 8 8 g R

(% u1) sSAd

(3 ur) ssiid

(unoH/sjusAg ul) y4y

L0 100 1000

10000

1588'81=400 U

G Z9B'EL0Z=YD0 IBMDY 050 - 101d 130
soUeULIoLISd WOopUEY

L L Ly L Ly

L Ly [
(anoH/s|usAT ul) vau
L0 100

—S—— $6FLG5L=400 BNV L

SoUeULIOLB Wopuey
L [ L

S0-9L

10000
1000

100’
00

Ll O
‘S50

oW NTVeY

-

£8 8 8 2 R

00

— L0 O
‘@9

%3 8‘G_U7N"U’.N

88 8

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y
L0

100

1000

10000

68g'81L=400 WA
& 29F'EL0Z=400 [BMOY 550 - 10ld 130
- ———— sjuBLLIOLIaY WOpUEY

L0

M I
(noH/sjusAg ) v4o
100

1000

10000

L ®  5gggl=yda uA
—5— Z96'€L0Z=40d [EMOY €50 -10ld 130

- ———— 8ouBLLIOLIad WopuURY
L [ L

S0-8l

100000
1000

10O
00

LD O
‘250

o wmw oNTnN

88 & 8 8 K *F

[+2]
[=2]

n
n

S0-8l

10000
1000

-0
2

S W NTWN

-

88 8 8 g R

(% u1) sSAd

(3 ur) ssiid

(unoH/sjusAg ul) y4y

L0 b

00 1000

10000

1588'81=400 U

G Z9B'EL0Z=YD0 IBMOY $50 - 101d 130
soUeULIoLISd WOopUEY

L L Ly L Ly

L0 b

L Ly [
(anoH/s|usAT ul) vau

00

[ ]
—

588'8L=400 WA
Z96'€L0Z=40d [EM2Y Z§0 - 101d 130
8oUBLLIOLIBd WOopUEY

L [ L

S0-9L

10000
1000

100’
00

Ll O
‘S50

oW NTVeY

-

£8 8 8 2 R

00

— L0 O
‘@9

%3 8‘G_U7N"U’.N

88 8

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y

10

100

1000 10000

168'81=400 WA
& 629%P21=400 MOy 990 - 10ld 130
soUBULIOLISd Wopuey

M
{4noH/

L0

SuaA]

1.
[EZN]
100

1000 10000

e

168812400 U
629°P¥L1L=400 [EMOY $90 - 10ld 130
SoUBULIOLISd Wopuey

L [ L

S0-8l

100000
1000

10O
00

LD O
‘250

o wmw oNTnN

88 & 8 8 K *F

[+2]
[=2]

n
n

S0-8l

10000
1000

-0
2

S W NTWN

88 8 8 8§ R =

w0
[=>]

»
»

(% u1) sSAd

(3 ur) ssiid

(1noH/sjuang ul) v
00L ol b L0 100

1000 10

000

S0-9L

T T 10000
1000

100’
00

Ll O
‘S50

oW NTVeY

-

168'81=400 U
G 629'%711=400 IEMOY 590 - 101d 130

F ——— eajueuwuoliad wopuey

L L Ly L Ly

£8 8 8 2 R

[+9]
@

D
n

L Ly [
(anoH/s|usAT ul) vau
0oL oL b L0 100

000

G0-8l

1000 L0

10000
1000

boo'
00

— L0 O
‘@9

S wn NTHeN

-

| ®  sggeL=yoa un
—&— Z95'€L0Z=100 [BMAY 950 - 101d 130

- ———— souewoLad Wopuey
L [ L

8 ¢ R

88 8

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y
L0

100

1000

10000

168'81=400 WA
& B29./1=400 [BNoY 020 - 10ld 130
- ———— sjuBLLIOLIaY WOpUEY

L0

M I
(noH/sjusAg ) v4o
100

1000

10000

L ®  16881=4DQ U
—&— 629°9PL1=400 [EMOY 890 - 10ld 130

- ———— 8ouBLLIOLIad WopuURY
L [ L

S0-8l

100000
1000

10O
00

LD O
‘250

o wmw oNTnN

88 & 8 8 K *F

[+2]
[=2]

n
n

S0-8l

10000
1000

-0
2

S W NTWN

-

88 8 8 g R

(% u1) sSAd

(3 ur) ssiid

(unoH/sjusAg ul) y4y

L0 b

00 1000

10000

168'81=400 U

G 629'%711=400 IEMOY 690 - 101d 130
soUeULIoLISd WOopUEY

L L Ly L Ly

L0 b

L Ly [
(anoH/s|usAT ul) vau

00

[ ]
—

868'8L=400 WA
S90'PEL1L=400 [EMAY 290 - 101d 13a
8oUBLLIOLIBd WOopUEY

L [ L

S0-9L

10000
1000

100’
00

Ll O
‘S50

oW NTVeY

-

£8 8 8 2 R

00

— L0 O
‘@9

%3 8‘G_U7N"U’.N

88 8

(% u1) ssIAd

(% U1} ssIiNd



